- Fisher Engineering 69709

50 Gordon Drive, Rockland, Maine 04841-2139 « www.fisherplows.com December 15, 2009
Lit. No. 69710, Rev. 00

SHORT STAND SERVICE KIT

HT Series™ Snowplows

N

INSTALLATION INSTRUCTIONS 4. Remove the existing 1/8" cotter pin and

3/8" washer from the wire cam and save for
A CAUTION reinstallation.

Read this document before installing the
Short Stand Service Kit.

1/8" Cotter Pin

A CAUTION

Use standard methods and practices
when attaching snowplow and installing
accessories including proper personal
protective safety equipment.

3/8" Washer

e

e

——Wire
N Cam

On Vehicle — Snowplow Attached

1. Park the vehicle on a smooth, level, hard surface,
such as concrete. Lower the blade to the ground,
and turn the control OFF. Leave the snowplow
attached to the vehicle. Turn the vehicle ignition to

the "OFF" position and remove the key. i . )
5. Align the supplied adapter bracket with the

2. Disconnect the snowplow battery cable. existing bracket. Using the new bracket as a
template, mark and drill two 13/32" holes.

3. Rotate the jack to the "DOWN" position.

Align
existing holes

O A SUBSIDIARY OF DOUGLAS DYNAMICS, L.L.C.



69709

6. Secure the adapter to the existing bracket with Off Vehicle — Snowplow Not Attached
two 3/8" x 1" cap screws and locknuts, as shown.
Tighten to 31 ft-Ib. Reinstall the 3/8" washer and 1. Place the snowplow on a smooth, level, hard
cotter pin removed in Step 3. surface, such as concrete. Raise the back end
of the headgear assembly with a floor jack or
I J/@ overhead crane and support in a level position
W using a block under the main A-frame tubes.
3/8" Locknut Existing 3/8" Washer

[

Adapter /Existing 1/8" Cotter Pin

Jack Stand
Assembly

7. Remove and discard the 1/2" x 3" cap screw,
washer and 1/2" locknut that secure the jack stand 2. Rotate the jack to the "DOWN" position.
to the headgear. Remove the existing jack stand

assembly. 3. Remove the existing 1/8" cotter pin and
3/8" washer from the wire cam and save for
8. Attach the new jack stand assembly to the reinstallation.

headgear using the 1/2" x 3" cap screw, washer
and 1/2" locknut provided in this kit. Tighten to

25 ft-Ib, then loosen nut 1/4-turn. When adjusted
correctly, after pulling lock pin out, stand should
rotate with moderate effort and without looseness.

1/8" Cotter Pin

9. Test the jack stand by rotating it to the "UP" 3/8" Washer
and "DOWN" positions, as shown on the
Attach/Detach label on the back of the blade. /}'
——Wire
10. Rotate the jack to the "UP" position and lock as — Cam
shown on the Attach/Detach label on the back of

the blade.

11. Reconnect the snowplow battery cable.

Lit. No. 69710, Rev. 00 2 December 15, 2009



69709

4. Align the adapter bracket with the existing bracket.
Using the new bracket as a template, mark and
drill two 13/32" holes.

Align
existing holes

5. Secure the adapter to the existing bracket with
two 3/8" x 1" cap screws and locknuts, as shown.
Tighten to 31 ft-Ib. Reinstall the 3/8" washer and
cotter pin removed in Step 3.

pie

3/8" Locknut

Existing 3/8" Washer
” Adapter

/Existing 1/8" Cotter Pin

Jack Stand
Assembly

10.

1.

12.

Remove and discard the 1/2" x 3" cap screw,
washer and 1/2" locknut that secure the jack stand
to the headgear. Remove the existing jack stand
assembly.

Attach the new jack stand assembily to the
headgear using the 1/2" x 3" cap screw, washer
and 1/2" locknut provided in this kit. Tighten to

25 ft-Ib, then loosen nut 1/4-turn. When adjusted
correctly, after pulling lock pin out, stand should
rotate with moderate effort and without looseness.

Test the jack stand by rotating it to the "UP"
and "DOWN?" positions, as shown on the
Attach/Detach label on the back of the blade.

Rotate the jack to the "DOWN" position and lock
as shown on the Attach/Detach label on the back
of the blade.

Lift the headgear slightly with a floor jack or
overhead crane.

Remove the block supporting the headgear.

Carefully lower the headgear to the surface
allowing the jack stand to support the snowplow.

Lit. No. 69710, Rev. 00

December 15, 2009



69709

Copyright © 2009 Douglas Dynamics, L.L.C. All rights reserved. This material may not be reproduced or copied, in whole or in part, in any
printed, mechanical, electronic, film or other distribution and storage media, without the written consent of Fisher Engineering. Authorization
to photocopy items for internal or personal use by Fisher Engineering outlets or snowplow owner is granted.

Fisher Engineering reserves the right under its product improvement policy to change construction or design details and furnish equipment
when so altered without reference to illustrations or specifications used. Fisher Engineering or the vehicle manufacturer may require or
recommend optional equipment for snow removal. Do not exceed vehicle ratings with a snowplow. Fisher Engineering offers a limited
warranty for all snowplows and accessories. See separately printed page for this important information. The following are registered (®) or
unregistered (™) trademarks of Douglas Dynamics, L.L.C.: FISHER®, HT Series™.

Printed in U.S.A.

Lit. No. 69710, Rev. 00 4 December 15, 2009



